’Y €= t /0
1=~
/ G
+=o >
AT =0
e can olPS U/:bq ow/ cord®

'g/y -Fa/{}ng where x am( = aFe
-FM ‘Mfu‘f f .

it ;X: TE) tefal] S0 pesitea al  Toi,
s (% g) - (Fke), 9&.)

Sonsebiney we us€ X = 'X(G) Jee Reladed
= 87 R for.
9= 2 ) 5

= o Q'f
C ; , €12 ]

S - 4
| 2% q
)




B
T

——————

7

[N‘L cdi e!‘w:‘nak '{‘ + e € the

|

_Cbm}pe A +ae covut < Thi _will  aiie

dJd
A clear Pictue ot Yloe 'pniL évj’ not

d o g5 |
how  Fust CLML I what dvecho. it s

-mce 4

= 2% [ 4ﬂ=3’€f);+1

s gl

NR X

g rp ]

Ptpra b agtle the JLq}?e. oud  the
O L)
Plo{-}eak }:?-‘Mh‘ ;/ ﬂ»{ﬁ?& a wt ek

1 w T,
rd
P = /{i
|
| 4 .;n | L
d
E x:
gk: (os‘f Le r‘U tm
f £% q.J
( .n.-\&-rmai'-
£ |x |2
o I 0 - - o
VAN LW Vs fsl"..
1 n T L
1;‘;.__9_[—:4"_ “\‘1&!‘ k14 \\ q
T |- o _ .
“ .:
“

e
|
\
|
I
—
1
|

L1 o
FIR
N1
[Nl

|

||




(a ¢

sint

Ze[o 7rrJ




